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import numpy as np

A = np.array([[ 2, 1],

[ 1, -2]1]D)
b = np.array([2, -2])
n = len(b)
X = np.zeros(n)

def dot(M, v):
out = np.zeros(n)
for 1 in range(n):
for j in range(n):
out[i] += M[1,j]*v[]]
return out

def norm(v):
out = 0
for 1 in range(n):
out += v[i]**2
return np.sqrt(out)

tol = 1e-8

X_guess = np.zeros(n)
k=0

k_max = 100

X = X_guess



res = norm(dot(A, x)-b)
print(k, res)

while(res > tol):

x_old = np.copy(x)

or j in range(1,n):

S -= A[i, j]*x_old[]j]
x[1] = S/A[1, 1]

for 1 in range(1, n-1):

S

b[i]
for j in range(0, i):
S -= A[i, j]*x_old[j]
for j in range(i+1, n):
S -= A[i, j]*x_old[j]

x[1] = S/A[1,1]
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i=n-1
S = b[1]
for j in range(0, n-1):
S -= A[i, j]*x_old[j]

x[1] = S/A[1,1]

k += 1
res = norm(dot(A, x) - b)
print(k, res)

if (k >= k_max):
break

print('\nsolution: ', x)
print('check the solution: A.x = ', dot(A, x))



